BODY WEIGHT (LBS.)

50 60 70 80 9% 100 10 120 130 140 150 (60 (70 180 190 200 210 220 230 240 250

LEVEL JSLOPE | WI. WL WL WL WL WL WL WL WL WL WL WL WL WL WL WL WL WL WL WL WL
12 1260 32 36 4l 45 5 54 58 6 61 71 76 80 8 8 93 98 (02 107 Hi NS 10
ninsg) 29 3 3 4 46 S0 54 S8 62 66 70 74 78 8 8 9% 94 98 102 106 10
0 218 27 3l 35 38 42 4 4 53 51 ol 64 68 72 15 19 8 8 9% 94 98 ol
9 1199 25 28 3% 3% & 45 4 52 5 59 6 66 69 T3 6 19 8 8 990 9B
8 [180°] B 26 29 3N 3 38 4 4 4 50 53 5T 60 63 66 69 T2 15 18 8l 84
7 11627} 20 B % 29 32 34 37 40 B 45 48 Sl 54 5T 59 6 65 68 Tl B 16
6 | 143 18 2 n 2 218 30 33 35 3% 40 | 43| 45 4 S50 9 55 58 60 6 65 6]
5 1125) 16 18 0 2 U n » 3l 333 31 40 4 4 46 48 50 3 5% 5T %9
4 1106 B3 15 17 9 2 B4 2% 18 30 3N 34 3% 3y 39 4 B 4 4 48 50
3188 | 1 13 14 16 17 M 20 2 B 25 2 8 30 3 33 34 3 31 39 4 4
2 110 9 10 1 13 14 15 16 17 9 2 2 n U B 2 7 18 30 3l B
sy | 1 8 8 9 10 Il 12 13 14 15 16 17 17 18 19 0 2 n B DL A

HOW IT WORKS: Total Gym uses a variable-angle incline plane to create exercise resistance by modifying your body weight ... the steeper the angle, the more resistance.

Down the left side of the chart, you'll see the various resistance levels (|-12) and their corresponding degree of slope. Across the top, you'll find body weight in 10-pound
increments. Simply cross reference your body weight with the incline level to determine the amount of resistance (in pounds) created when the Total Gym is in use without the
pulley cables attached.

If the pulley cables are used in the exercise, use 50% or ' of the charted numbers.

EXAMPLE: A 150 Ib. person using Level 6 would be lifting 43 Ibs. If the pulley cables are used in the exercise, the person would be lifting 21.5 Ibs. (43 x .5).
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